

809 E. Court Street Suite 106 Seguin, Texas 78155 T 512.201.1206 TRCcompanies.com T.B.P.E. #F-8632

December 5, 2024

Ms. Melissa Reynolds, P.E., MPA, CFM Director of Engineering and Capital Projects 108 E. Mountain St. Seguin, Texas, 78155

## RE: CDBG-MIT NORTH HEIDEKE STREET DRAINAGE IMPROVEMENT PROJECT AF-2025-017 Bid Award Recommendation

Dear Ms. Reynolds:

Six (6) sealed bids were received on November 12, 2024, for the above-referenced project. The total of the Base Bid amounts ranged from \$15,579,765.01 from GO Underground, LLC of Harlingen, Texas to \$24,036,135.01 from Skyblue Utilities, Inc. of Kingsland, Texas. The total of the Alternate Bid amounts ranged from \$17,911,808.79 from D&D Contractors, Inc. of Marion, Texas to \$22,642,840.69 from Skyblue Utilities, Inc. . A detailed bid tabulation is attached for your reference. The construction completion period is six hundred and ten (610) consecutive calendar days.

Principal items of construction include installing approximately 4,000 linear feet of reinforced concrete pipe storm sewers; approximately 6,700 linear feet of reinforced concrete box storm sewers; removal and replacement of approximately 1,300 square yards of concrete parking area within the Premium Waters site; approximately 4,400 linear feet of open channel ditch with concrete rip rap bottom and earthen side slopes; 21,000 square yards of mill and overlay of existing streets; and all other appurtenances necessary for the complete Project.

Note that for the low bidder for the base bid, GO Underground, LLC., there was a discrepancy between the number and word value of the unit price for Item No. P.108. Per page 00 41 00-1 of the Bid Form, our Bid Tabulation shows the amount written in words for Item No. P.108. This bid item has been highlighted in the Bid Tabulation for your reference. This discrepancy resulted in an almost \$2,000,000 reduction in their bid price.

Also note that the second low bidder for the Base Bid, SER Construction Partners, is not SAM registered and therefore their bid is considered unresponsive.

GO Underground, LLC has successfully completed similar projects and their references were positive. But their project list is not very extensive and most of their work includes smaller projects. GO Underground also does not have any experience working in this region or for the City of Seguin. The subject project is funded with a GLO grant with a construction completion deadline of October 31, 2026. If this deadline is not met, the use of the grant funds is in jeopardy. Because of these reasons, awarding the contract to GO Underground, LLC is not recommended.

D&D Contractors, LLC. has successfully completed similar work in the past. Additionally, they are nearing completion on a complex street reconstruction project with the City of Seguin and they

Ms. Melissa Reynolds City of Seguin December 5, 2025 Page 2 of 2

have performed well on that project. TRC conducted reference checks on other projects supplied by D&D and found that they successfully completed those projects.

Therefore, it is recommended that the city award the project to the low bidder for the Alternate Bid, D&D Contractors, Inc. in the amount of \$17,911,808.79. The Contractor has a bid bond and will be required to furnish a Standard Form of Agreement, Performance Bond, and Payment Bond to the City.

If you have any questions or comments, please do not hesitate to contact this office.

Sincerely,

.11

Philip M. Mullan, P.E. Area Director - Infrastructure

Attachment: Bid Tabulation



## City of Seguin CDBG North Heideke Street Drainage Improvement Project Bid No. AF-2025-17, GLO Contract #22-085-008-D236 Bid Tab November 12, 2024 - 3:00 PM

	ce & Payment Bonds	Qty.		Harlindon IX /85	217 W. Jefferson Ave, Ste 7		EZ Bel Construction, LLC 203 Recoleta Rd		Guerra Underground, LLC 9810 FM 969		D&D Contractors, Inc. 1463 Bolton Rd		Skyblue Utilities, Inc. PO Box 1001		Blvd
BASE BIDP.1PerformandP.2MobilizatioP.3SWPPP	ce & Payment Bonds	Qty.				,		Austin, TX 78724		Marion, TX 78124		Kinglsand, TX 78639		Pasadena, TX 75	
P.1 Performano P.2 Mobilizatio P.3 SWPPP	ice & Payment Bonds		Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
P.2 Mobilizatio P.3 SWPPP															
P.3 SWPPP		1	L.S.	\$172,177.00	\$172,177.00	\$170,000.00		\$182,435.00	\$182,435.00		\$194,717.78	\$336,000.00	\$336,000.00		\$220,000.00
	on/Demobilization	1	L.S.	\$480,000.00	\$480,000.00	\$1,750,000.00		\$898,800.00	\$898,800.00		\$576,088.12		\$1,008,000.00	\$850,000.00	\$850,000.00
P 4 Traffic Con		1	L.S.	\$125,000.00	\$125,000.00	\$2,000.00	\$2,000.00	\$18,232.80	\$18,232.80		\$62,872.20	\$22,400.00	\$22,400.00		\$8,000.00
		20	MO.	\$4,200.00	\$84,000.00	\$1,500.00	\$30,000.00	\$12,840.00	\$256,800.00		\$81,090.20	\$5,600.00	\$112,000.00		\$400,000.00
	ey & GIS Files	1	L.S.	\$180,000.00	\$180,000.00	\$510,000.00		\$12,840.00	\$12,840.00		\$31,878.05		\$100,800.00		\$140,000.00
P.6 UPRR Per		1	L.S.	\$185,000.00	\$185,000.00	\$300,000.00	\$300,000.00	\$19,260.00	\$19,260.00		\$55,401.24	\$89,600.00	\$89,600.00		\$5,000.00
	n, grubbing, topsoil	1	L.S.	\$87,999.00	\$87,999.00	\$84,750.00	\$84,750.00	\$64,200.00	\$64,200.00		\$30,018.41	\$56,000.00	\$56,000.00		\$400,000.00
P.8 Hydro-mulo			S.Y.	\$0.71	\$44,545.40	\$0.64	\$40,153.60	\$1.67	\$104,775.80		\$89,718.20	\$1.46	\$91,600.40		\$62,740.00
P.9 Erosion log		1,759	L.F.	\$8.00	\$14,072.00	\$11.50	\$20,228.50	\$4.63	\$8,144.17		\$7,669.24	\$11.20	\$19,700.80		\$21,108.00
P.10 Tree protect		7	EA.	\$1,200.00	\$8,400.00	\$446.00	\$3,122.00	\$449.40	\$3,145.80		\$3,194.52	\$560.00	\$3,920.00		\$4,200.00
	y construction entrance	4	EA.	\$16,000.00	\$64,000.00	\$2,442.00	\$9,768.00	\$4,378.44	\$17,513.76		\$14,199.20	\$3,360.00	\$13,440.00		\$16,000.00
P.12 Silt fence		5,698	L.F.	\$10.00	\$56,980.00	\$3.40	\$19,373.20	\$7.13	\$40,626.74		\$19,658.10	\$3.36	\$19,145.28		\$19,373.20
P.13 Rock filter		100	L.F.	\$120.00	\$12,000.00	\$42.00	\$4,200.00	\$70.62	\$7,062.00		\$4,776.00	\$50.40	\$5,040.00		\$12,500.00
	removal/disposal	268	L.F.	\$6.00	\$1,608.00	\$10.00	\$2,680.00	\$11.56	\$3,098.08		\$1,535.64	\$22.40	\$6,003.20		\$1,608.00
	crete removal	1,576	S.Y.	\$22.00	\$34,672.00	\$11.00	\$17,336.00	\$38.32	\$60,392.32		\$23,450.88	\$33.60	\$52,953.60		\$17,336.00
	curb removal	30	L.F.	\$8.00	\$240.00	\$20.00	\$600.00	\$2.19	\$65.70		\$1,852.80	\$11.20	\$336.00		\$180.00
	tter removal	271	L.F.	\$8.00	\$2,168.00	\$10.00	\$2,710.00	\$2.19	\$593.49		\$5,195.07	\$56.00	\$15,176.00		\$1,626.00
	phalt road removal	21,990	S.Y.	\$4.00	\$87,960.00	\$3.55	\$78,064.50	\$1.85	\$40,681.50		\$89,939.10	\$5.04	\$110,829.60		\$219,900.00
	ned waterline removal	636	L.F.	\$12.00	\$7,632.00	\$16.00	\$10,176.00	\$29.00	\$18,444.00		\$7,199.52	\$2.24	\$1,424.64		\$8,904.00
P.20 10" CMP re			L.F.	\$12.00	\$252.00	\$45.00	\$945.00	\$28.25	\$593.25		\$1,189.02	\$56.00	\$1,176.00		\$924.00
P.21 10" RCP re		20	L.F.	\$12.00	\$240.00	\$45.00	\$900.00	\$28.25	\$565.00		\$1,132.40	\$61.60	\$1,232.00		\$920.00
P.22 18" RCP re		117	L.F.	\$12.00	\$1,404.00	\$30.00	\$3,510.00	\$28.25	\$3,305.25		\$5,300.10	\$67.20	\$7,862.40		\$1,989.00
P.23 24" RCP re		2,036	L.F.	\$12.00 \$12.00	\$24,432.00	\$10.00 \$10.00	\$20,360.00 \$8,970.00	\$21.83	\$44,445.88		\$26,753.04	\$72.80 \$78.40	\$148,220.80 \$70,324.80		\$30,540.00
P.24 30" RCP re P.25 6'x3' RCB		897 132	L.F.	\$72.00	\$10,764.00 \$9,504.00	\$10.00	\$6,600.00	\$21.83 \$117.50	\$19,581.51 \$15,510.00		\$11,786.58 \$9,060.48	\$100.80	\$10,324.60 \$13,305.60		\$17,043.00 \$10,164.00
P.25 6'x3' RCB P.26 7'x3' RCB		21	L.F. L.F.	\$60.00	\$9,504.00	\$25.00	\$525.00	\$117.50	\$15,510.00		\$9,060.46 \$905.94	\$100.80	\$2,352.00		\$2,100.00
	removal/disposal	21	EA.	\$3,200.00	\$3,200.00	\$3,000.00	\$3,000.00	\$5,683.50	<u>\$2,407.50</u> \$5,683.50		\$2,772.26	\$3,360.00	\$3,360.00	\$1,100.00	\$2,100.00
	pond outfall removal	1	EA.	\$6,800.00	\$6,800.00	\$40,000.00	\$40,000.00	\$9,826.20	\$9,826.20		\$2,004.96		\$11,200.00		\$2,500.00
P.29 Inlets remo		8	EA.	\$1,200.00	\$9,600.00	\$1,000.00	\$8,000.00	\$3,885.90	\$31,087.20		\$18,119.84	\$1,120.00	\$8,960.00		\$5,200.00
	oxes removal	5	EA.	\$2,400.00	\$12,000.00	\$1,000.00	\$5,000.00	\$3,885.90	\$19,429.50		\$11,324.90	\$1,120.00	\$5,600.00		\$4,000.00
	nhole removal	2	EA.	\$2,400.00	\$4,800.00	\$1,200.00	\$2,400.00	\$3,885.90	\$7,771.80		\$4,529.96	\$896.00	\$1,792.00		\$1,800.00
	n removal/replacement	3	EA.	\$800.00	\$2,400.00	\$300.00	\$900.00	\$365.94	\$1,097.82		\$2,082.93	\$1,232.00	\$3,696.00		\$1,500.00
¥	moval/replacement	2	EA.	\$500.00	\$1,000.00				\$950.16						\$660.00
P.34 10" water r			EA.	\$12,000.00	\$60,000.00	\$17,000.00		\$14,532.32	\$72,661.60						\$75,000.00
P.35 8" water m			EA.	\$12,000.00	\$84,000.00			\$13,302.91	\$93,120.37						\$98,000.00
P.36 6" water m			EA.	\$27,805.50	\$55,611.00	\$15,500.00		\$11,644.99	\$23,289.98		\$17,936.88	\$18,240.08	\$36,480.16	. ,	\$26,000.00
P.37 4" water m			EA.	\$22,472.20	\$112,361.00	\$15,500.00		\$11,187.75	\$55,938.75		\$14,070.85		\$86,554.05		\$64,000.00
	ter service lines		EA.	\$721.21	\$24,521.14	\$2,000.00		\$4,217.23	\$143,385.82			\$1,120.00			\$17,000.00
	6" gate valve	1	EA.	\$1,971.00	\$1,971.00	\$2,000.00	\$2,000.00	\$7,424.09	\$7,424.09	. ,	\$1,180.07	\$4,113.40	\$4,113.40		\$6,000.00
	flict manhole	2	EA.	\$14,580.00	\$29,160.00	\$8,000.00		\$13,538.37	\$27,076.74		\$22,361.34		\$45,532.74		\$16,000.00
P.41 Adust man	nhole lids	6	EA.	\$3,100.00	\$18,600.00	\$500.00	\$3,000.00	\$2,702.82	\$16,216.92		\$37,576.26	\$2,766.40			\$3,000.00
	itary sewer service lines	29	EA.	\$3,200.00	\$92,800.00	\$4,500.00			\$165,360.03		\$43,709.09	\$1,120.00	\$32,480.00		\$14,500.00
	asphalt (Type D)		S.Y.	\$22.96	\$404,256.72	\$20.00		\$34.50	\$607,441.50			\$33.60	\$591,595.20		\$563,424.00
	asphalt (Type D)		S.Y.	\$22.96	\$88,717.44	\$16.00		\$30.82	\$119,088.48		,	\$19.04	\$73,570.56		\$92,736.00
P.45 Roadway b		21,471				\$7.50		\$13.89	\$298,232.19						
	curb & gutter		L.F.	\$56.00	\$4,648.00	\$100.00		\$35.19	\$2,920.77		\$2,346.41		\$4,648.00		\$2,490.00
	e pavement	519		\$94.00	\$48,786.00	\$110.00		\$149.79	\$77,741.01			\$252.00			\$46,710.00
P.48 4" concrete	e sidewalk	70	L.F.	\$89.63	\$6,274.10	\$160.00	\$11,200.00	\$70.11	\$4,907.70		\$5,484.50	\$100.80	\$7,056.00	\$90.00	\$6,300.00



## City of Seguin CDBG North Heideke Street Drainage Improvement Project Bid No. AF-2025-17, GLO Contract #22-085-008-D236 Bid Tab November 12, 2024 - 3:00 PM

				GO Underground, LLC		EZ Bel Construction, LLC		Guerra Underground, LLC		D&D Contractors, Inc.		Skyblue Utilities, Inc.		SER Construction Partners	
				217 W. Jefferson Ave, Ste 7		203 Recoleta Rd		9810 FM 969		1463 Bolton Rd		PO Box 1001		3636 Pasadena Blvd	
				Harlingen, TX 78	550	San Antonio, TX	78216	Austin, TX 78724		Marion, TX 7812	4	Kinglsand, TX 78639		Pasadena, TX 75	503
Item	Item Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	BASE BID														
P.49	Install flowable fill-in areas	300	C.Y.	\$220.00	\$66,000.00	\$200.00	\$60,000.00	\$228.56	\$68,568.00	\$402.99	\$120,897.00	\$179.20	\$53,760.00	\$200.00	\$60,000.00
P.50	Install 18" storm sewer lateral		L.F.	\$90.60	\$49,195.80	\$265.00	\$143,895.00	\$136.67	\$74,211.81	\$118.88	\$64,551.84	\$120.67	\$65,523.81	\$190.00	\$103,170.00
P.51	Install 24" storm sewer lateral		L.F.	\$106.70	\$13,017.40	\$290.00	\$35,380.00	\$163.80	\$19,983.60		\$18,148.72	\$163.16			\$29,280.00
P.52	Install 36" storm sewer lateral		L.F.	\$172.48	\$4,312.00	\$345.00	\$8,625.00	\$262.43	\$6,560.75		\$7,052.50	\$287.78			\$8,000.00
P.53	Install 13.5"x22" Arch pipe		L.F.	\$215.39	\$9,477.16	\$630.00	\$27,720.00	\$250.20	\$11,008.80		\$384,395.88	\$239.21	\$10,525.24		\$22,000.00
P.54	Instal 18" storm sewer	196	L.F.	\$90.60	\$17,757.60	\$160.00	\$31,360.00	\$114.00	\$22,344.00	\$117.56	\$23,041.76	\$120.67	\$23,651.32	\$140.00	\$27,440.00
P.55	Install 36" storm sewer	1,124	L.F.	\$182.50	\$205,130.00	\$130.00	\$146,120.00	\$227.88	\$256,137.12		\$272,367.68	\$287.78			\$337,200.00
P.56	Install 48" storm sewer	1,890	L.F.	\$325.80	\$615,762.00	\$190.00	\$359,100.00	\$348.63	\$658,910.70	\$358.31	\$677,205.90	\$459.91	\$869,229.90	\$400.00	\$756,000.00
P.57	48" storm sewer (Jack & Bore)	47	L.F.	\$1,988.89	\$93,477.83	\$1,700.00	\$79,900.00	\$1,247.12	\$58,614.64	\$4,630.60	\$217,638.20	\$1,698.92	\$79,849.24	\$3,000.00	\$141,000.00
P.58	60" storm sewer (Jack & Bore)	101	L.F.	\$3,582.89	\$361,871.89	\$2,000.00	\$202,000.00	\$1,771.23	\$178,894.23	\$3,317.12	\$335,029.12	\$2,320.05	\$234,325.05	\$4,000.00	\$404,000.00
P.59	Install 60" storm sewer	636	L.F.	\$555.50	\$353,298.00	\$600.00	\$381,600.00	\$539.66	\$343,223.76	\$588.83	\$374,495.88	\$726.12	\$461,812.32	\$800.00	\$508,800.00
P.60	Install 4'x2' RCB storm sewer	1,235	L.F.	\$443.30	\$547,475.50	\$440.00	\$543,400.00	\$527.28	\$651,190.80		\$583,883.30	\$508.77	\$628,330.95		\$555,750.00
P.61	Install 5'x2' RCB storm sewer	40	L.F.	\$628.80	\$25,152.00	\$860.00	\$34,400.00	\$607.09	\$24,283.60	\$599.71	\$23,988.40	\$679.60	\$27,184.00	\$700.00	\$28,000.00
P.62	5'x4' storm sewer (Jack & Bore)	33	L.F.	\$3,306.09	\$109,100.97	\$1,850.00	\$61,050.00	\$2,255.45	\$74,429.85		\$200,869.35	\$2,276.67	\$75,130.11	\$3,000.00	\$99,000.00
P.63	Install 5'x4' storm sewer	327	L.F.	\$881.10	\$288,119.70	\$650.00	\$212,550.00	\$703.37	\$230,001.99		\$224,979.27	\$797.15	\$260,668.05	\$750.00	\$245,250.00
P.64	Install 6'x3' storm sewer	85	L.F.	\$1,033.35	\$87,834.75	\$870.00	\$73,950.00	\$1,189.20	\$101,082.00		\$62,832.85	\$876.37	\$74,491.45		\$68,000.00
P.65	Install 9'x3' storm sewer	659	L.F.	\$1,181.88	\$778,858.92	\$1,100.00	\$724,900.00	\$1,185.04	\$780,941.36		\$781,679.44	\$1,439.96			\$922,600.00
P.66	9'x3' storm sewer (Jack & Bore)	96	L.F.	\$4,197.79	\$402,987.84	\$2,500.00	\$240,000.00	\$3,796.82	\$364,494.72		\$635,116.80	\$4,477.40			\$403,200.00
P.67	Install 9'x4' storm sewer	469	L.F.	\$1,337.74	\$627,400.06	\$1,100.00	\$515,900.00	\$1,194.56	\$560,248.64	\$1,949.41	\$914,273.29	\$1,653.00	\$775,257.00		\$609,700.00
P.68	3'x6' concrete junction boxes	1	EA.	\$10,426.00	\$10,426.00	\$30,000.00	\$30,000.00	\$16,433.28	\$16,433.28		\$13,963.42	\$19,102.62	\$19,102.62	\$8,000.00	\$8,000.00
P.69	10'x3' concrete junction boxes	1	EA.	\$14,838.00	\$14,838.00	\$39,000.00	\$39,000.00	\$33,190.19	\$33,190.19		\$38,920.10	\$26,655.93	\$26,655.93		\$25,000.00
P.70	4'x4' concrete junction boxes	4	EA.	\$5,556.25	\$22,225.00	\$8,000.00	\$32,000.00	\$14,953.73	\$59,814.92		\$41,781.68	\$9,698.21	\$38,792.84	\$8,000.00	\$32,000.00
	5'x3' concrete junction boxes	9	EA.	\$4,433.67	\$39,903.03	\$12,500.00	\$112,500.00	\$14,796.37	\$133,167.33	\$10,867.41	\$97,806.69	\$9,004.73	\$81,042.57	\$7,000.00	\$63,000.00
	5'x4' concrete junction boxes	1	EA.	\$7,054.00	\$7,054.00	\$27,000.00	\$27,000.00	\$22,156.58	\$22,156.58		\$16,102.25	\$10,499.98	\$10,499.98		\$10,000.00
P.73	10'x5' concrete junction boxes	2	EA.	\$20,550.50	\$41,101.00	\$46,000.00	\$92,000.00	\$34,489.02	\$68,978.04	\$33,512.95	\$67,025.90	\$33,328.87	\$66,657.74		\$38,000.00
P.74	7'x6' concrete junction boxes	1	EA.	\$14,465.00	\$14,465.00	\$41,000.00	\$41,000.00	\$30,043.55	\$30,043.55		\$25,738.82	\$21,730.22	\$21,730.22		\$20,000.00
	8'x3' concrete junction boxes	1	EA.	\$9,499.00	\$9,499.00	\$22,000.00	\$22,000.00	\$21,301.44	\$21,301.44		\$22,713.62	\$24,835.90	\$24,835.90		\$11,000.00
	8'x8' concrete junction boxes	3	EA.	\$20,936.67	\$62,810.01	\$42,000.00	\$126,000.00	\$36,101.33	\$108,303.99		\$103,500.21	\$35,321.69		\$21,000.00	\$63,000.00
	8'x10' concrete junction boxes	1	EA.	\$41,946.00	\$41,946.00	\$48,000.00	\$48,000.00	\$39,219.91	\$39,219.91	\$40,052.27	\$40,052.27	\$48,706.55			\$26,000.00
P.78	10'x10' concrete junction boxes	1	EA.	\$41,946.00	\$41,946.00	\$84,000.00	\$84,000.00	\$67,544.18	\$67,544.18		\$69,534.84	\$38,752.00			\$52,000.00
P.79	4' diameter sewer manhole	1	EA.	\$4,681.00	\$4,681.00	\$18,000.00	\$18,000.00	\$5,609.80	\$5,609.80		\$7,430.81	\$5,890.05			\$3,500.00
P.80	4' diameter riser manhole	2	EA.	\$4,434.00	\$8,868.00	\$18,000.00	\$36,000.00	\$5,609.80	\$11,219.60		\$7,853.74	\$4,395.88			\$5,000.00
P.81	Concrete curb inlet (TY C)	12	EA.	\$5,692.75	\$68,313.00	\$10,000.00	\$120,000.00	\$6,808.80	\$81,705.60	\$6,869.27	\$82,431.24	\$8,913.44	\$106,961.28	\$4,000.00	\$48,000.00
	Concrete curb linlet, TY C (L&R ext.)	2	EA.	\$5,590.00	\$11,180.00	\$16,000.00	\$32,000.00	\$8,033.61	\$16,067.22	\$13,432.27	\$26,864.54	\$11,127.13	\$22,254.26	\$10,000.00	\$20,000.00
P.83	Curb inlet, PCU (right ext.)	1	EA.	\$7,679.00	\$7,679.00	\$16,000.00	\$16,000.00	\$9,661.85	\$9,661.85	\$10,647.40	\$10,647.40	\$12,280.78	\$12,280.78	\$7,000.00	\$7,000.00
P.84	Curb inlet, PCU (left ext.)	1	EA.	\$7,451.00	\$7,451.00	\$16,000.00	\$16,000.00	\$9,344.06	\$9,344.06	\$10,272.77	\$10,272.77	\$12,011.91	\$12,011.91	\$7,000.00	\$7,000.00
	Curb inlet, PCU (L&R ext.)	2	EA.	\$6,401.50	\$12,803.00	\$14,000.00	\$28,000.00	\$8,472.48	\$16,944.96		\$17,465.06	\$12,083.36		\$6,000.00	\$12,000.00
	Concrete curb inlet (PCO)	9	EA.	\$5,910.33	\$53,192.97	\$15,000.00	\$135,000.00	\$8,804.01	\$79,236.09		\$90,823.41	\$9,121.92			\$54,000.00
	Curb inlet, PCO (right ext.)	8	EA.	\$7,093.00	\$56,744.00	\$16,000.00	\$128,000.00	\$11,361.74	\$90,893.92		\$101,220.80	\$12,202.11		\$9,000.00	\$72,000.00
	Curb inlet, PCO (L&R ext.)	1	EA.	\$6,822.00	\$6,822.00	\$14,000.00	\$14,000.00	\$12,101.06	\$12,101.06	\$13,008.15	\$13,008.15	\$12,390.49	\$12,390.49	\$10,000.00	\$10,000.00
	3'x3' grate inlet	12	EA.	\$6,033.00	\$72,396.00	\$12,000.00			\$108,705.00			\$8,653.06			\$96,000.00
	4'x4' grate inlet		EA.	\$7,119.64	\$78,316.04	\$13,000.00		\$9,830.44	\$108,134.84		\$79,862.64		\$113,269.75		\$77,000.00
	Traffic grate inlet type 5	1	EA.	\$7,200.00	\$7,200.00	\$12,000.00	\$12,000.00	\$38,288.88	\$38,288.88		\$15,643.27	\$9,980.30			\$15,000.00
	Connections to existing main	3	EA.	\$7,000.00	\$21,000.00	\$11,000.00	\$33,000.00	\$4,378.44	\$13,135.32		\$3,321.03	\$4,480.00	· /		\$15,000.00
	OSHA trenching	8,166		\$2.00	\$16,332.00	\$0.01	\$81.66	\$5.40	\$44,096.40						\$8,166.00
	Fill ditch on Seidmann St.		L.S.	\$60,000.00	\$60,000.00	\$4,294.00	\$4,294.00	\$10,836.96	\$10,836.96		\$43,017.53				\$14,000.00
	Excavate ditch	54,433		\$12.00			\$751,719.73		\$1,432,676.56		\$1,288,973.44		\$1,828,948.80		
	Install 5" concrete riprap for ditch	18,858			\$1,278,949.56		\$2,828,700.00		\$2,234,484.42		\$2,607,307.08		\$4,372,038.72		
		,	· · · · · ·		. , ,		. , ,		. , ,		. , ,		. , ,		



## City of Seguin CDBG North Heideke Street Drainage Improvement Project Bid No. AF-2025-17, GLO Contract #22-085-008-D236 Bid Tab November 12, 2024 - 3:00 PM

				GO Underground, LLC		EZ Bel Construction, LLC		Guerra Underground, LLC		D&D Contractors, Inc.		Skyblue Utilities, Inc.		SER Construction Partners	
				217 W. Jefferson Ave, Ste 7		203 Recoleta Rd		9810 FM 969		1463 Bolton Rd		PO Box 1001		3636 Pasadena Blvd	
				Harlingen, TX 78550		San Antonio, TX 78216		Austin, TX 78724		Marion, TX 78124		Kinglsand, TX 78639		Pasadena, TX 75503	
Item	Item Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	BASE BID														
P.97	Density Tests	23	EA.	\$4,500.00	\$103,500.00	\$0.01	\$0.23	\$321.00	\$7,383.00	\$4,032.62	\$92,750.26	\$336.00	\$7,728.00	\$500.00	\$11,500.00
P.98	8'x5' storm sewer	647	L.F.	\$1,413.56	\$914,573.32	\$1,000.00	\$647,000.00	\$1,106.98	\$716,216.06	\$1,126.25	\$728,683.75	\$1,441.26	\$932,495.22	\$1,000.00	\$647,000.00
P.99	Concrete wingwall (PW-1) 8'	2	EA.	\$38,000.00	\$76,000.00	\$45,000.00	\$90,000.00	\$84,985.14	\$169,970.28	\$50,983.80	\$101,967.60	\$16,800.00	\$33,600.00	\$100,000.00	\$200,000.00
P.100	Concrete wingwall (PW-1) 7'	1	EA.	\$38,000.00	\$38,000.00	\$35,000.00	\$35,000.00	\$67,914.36	\$67,914.36	\$ \$53,737.50	\$53,737.50	\$15,680.00	\$15,680.00	\$140,000.00	\$140,000.00
P.101	Concrete wingwall (PW-1) 6'	1	EA.	\$38,000.00	\$38,000.00	\$27,000.00	\$27,000.00	\$54,104.94	\$54,104.94	\$30,077.56	\$30,077.56	\$14,560.00	\$14,560.00	\$70,000.00	\$70,000.00
P.102	Concrete wingwall (FW-S) 4'	1	EA.	\$38,000.00	\$38,000.00	\$18,500.00	\$18,500.00	\$19,706.58	\$19,706.58	8 \$8,889.04	\$8,889.04	\$12,320.00	\$12,320.00	\$15,000.00	\$15,000.00
P.103	Concrete wingwall (SW-0) 5'	1	EA.	\$38,000.00	\$38,000.00	\$25,000.00	\$25,000.00	\$24,200.58	\$24,200.58	8 \$15,853.94	\$15,853.94	\$11,200.00	\$11,200.00	\$21,000.00	\$21,000.00
P.104	Traffic Rail	369	L.F.	\$65.00	\$23,985.00	\$120.00	\$44,280.00	\$91.17	\$33,641.73	\$138.26	\$51,017.94	\$134.40	\$49,593.60	\$84.00	\$30,996.00
P.105	Work in Premium Waters parking	1	L.S.	\$80,000.00	\$80,000.00	\$30,000.00	\$30,000.00	\$21,314.40	\$21,314.40	\$71,294.21	\$71,294.21	\$44,800.00	\$44,800.00	\$67,000.00	\$67,000.00
P.106	7" reinforced concrete removal	1,271	S.Y.	\$18.00	\$22,878.00	\$17.00	\$21,607.00	\$49.70	\$63,168.70	\$20.26	\$25,750.46	\$20.16	\$25,623.36	\$10.00	\$12,710.00
P.107	Remove/replace light pole	3	EA.	\$32,136.00	\$96,408.00	\$9,000.00	\$27,000.00	\$5,136.00	\$15,408.00	\$7,489.15	\$22,467.45	\$5,600.00	\$16,800.00	\$10,000.00	\$30,000.00
P.108	Precast 9'x6' storm sewer (PW site)	3,102	L.F.	\$1,173.43	\$3,639,979.86	\$1,200.00	\$3,722,400.00	\$1,352.68	\$4,196,013.36	\$1,375.33	\$4,266,273.66	\$1,851.40	\$5,743,042.80	\$1,200.00	\$3,722,400.00
P.109	7" concrete pavement (PW site)	1,271	S.Y.	\$133.00	\$169,043.00	\$110.00	\$139,810.00	\$167.83	\$213,311.93	\$109.46	\$139,123.66	\$302.40	\$384,350.40	\$82.00	\$104,222.00
P.110	Concrete curbe & guttter	573	L.F.	\$30.00	\$17,190.00	\$50.00	\$28,650.00	\$35.49	\$20,335.77	\$28.27	\$16,198.71	\$39.20	\$22,461.60	\$21.00	\$12,033.00
	TOTAL BASE BID			\$15,579,765.01		\$18,192,250.92		2 \$18,665,347.69		\$19,113,740.73		3 \$24,036,135.01		1 \$17,989,799.20	
	ALTERNATE BID ITEM														
	Cast-in-place 9x6 RCB storm sewer														
P.A.1	IN LIEU of P.108	3,102	L.F.	\$2,200.00	\$6,824,400.00	\$1,294.42	\$4,015,290.84	NO BID	NO BID	\$987.86	\$3,064,341.72	\$1,402.24	\$4,349,748.48	\$1,300.00	\$4,032,600.00
	TOTAL ALTERNATE BID														
	(BASE BID MINUS P.108, PLUS P.A.1)			\$	518,764,185.15	\$	18,485,141.76	\$	18,665,347.69		17,911,808.79	\$	22,642,840.69	\$	18,299,999.20

